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l.1. Which of the following are formed in
pyrenoids ofalgae?
(A) oil
(B) Glucose
(C) Starch
(D) Silica

Protein rich alga is

(A) Chlamydomonas

(B) Scytonema

(C) Cosmarium
(D) Spirulina

Elaters are present in sporogonium of
(A) Riccia
(B) Marchantia
(C) Sphagnum
(D) Selaginella

L.S.D is derived from
(A) Cannabis
(B) Claviceps
(C) Clostridium
(D) Fusarium

Circinate venation is found in

(A) Cycas

(B) Fern

(C) Both (A) and (B)

(D) None of these

6. Which plays an important role in the

dispersal of spores in funaria
(A) Operculum
(B) Capsule

(C) Peristome and annulus
(D) Sporogonium

ffifoa t t ot{ r}qrd d !T$tnq-.ss t
e-{-a t ?

(A) ild
(B) -qE'M
(c) {rrd
(D) fuftmT

fun rt{rd t s}-e{ Grkfr d-dT t r

(A) o-dqr{$t-{Ts
(B) HrEdt{qr

(c) omnRqq

(D) Tqr{tfu-rT

g-nrcvd frrsd ti fr-qc drt d
?

(A) RdftHr
(B) qFdftqT

(c) {fl-rf,rl
(D) ffiridT

Tdoqflo$o mE fuqr qtdr t I

(A) fiqTRs
(B) odfrtw
(c) o-dlrfi-Sqq
(D) q$Rqq

Idrmr tiqn d qrqr qrdr t
(A) HEfiT

(B) s-{

(c) #f fel eilq fe)

(D) flt t sti Tfr

6. q{iRqr q rmd d fidrq S frq ot{
q-6-d{of ord os* t t

(A) sirr.gdq
(B) dw[d
(c) tRCq 3ili sJ-o-n

(D) wYmfrqq

2.

J.J.

4.4.

5.5.
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7. In pteridophytes, phloem is without

(A) Sieve cells

(B) Phloem ParenchYma
(C) ComPanion cells
(D) Bast fibres

Which of the following virus has a

double stranded RNA as its genetic

material.
(A) $x174
(B) Reovirus
(c) rMV
(D) Influenza virus

Meristele are found in
(A) Cycas stem

(B) Pinus needle

(C) fern leaf
(D) Fern rhizome

The phenolic comPounds formed.bY

the host against pathogenic infection

is called
(A) MYcotoxins
(B) PhYtoalexins
(C) Vivotoxin
(D) Antibodies

Tikka disease of ground nut is caused

by
(A) CercosPora
(B) PhytoPhthora
(C) ErysiPhe
(D) Ustilago

12. Smut disease of plant is caused by

(A) Puccinia
(B) Albugo
(C) PYthium
(D) Ustilago

13. Photorespiration is characteristic of
(A) Cr Plants
(B) C+Plants
(C) CAM Plants
(D) None

tNqTez t, q-df\q frtq-d R'qT dror t?

(A) ?E-ft dfrmTq
(B) q-dqq tiffiEqT

i.l qTefr @lfrInl(

(D) qr€ sr-fli

ffidtun ot{ i\ qr{q{{ d firn eR*
dEft g"tft 4l?[ sl-to T{o !o drot t t

(A) Qxt74
(B) Rqi-fl-q-{q

(C) frognofro
(D) {q-{qqT qrfln

tM-a qrqr qrf,r t I

(A) sl{fi-fl il{T
(B) qrfln ftEd
(c) q-{ of q-frqi

(D) w{ irSilq

10. ffi fi q)ti d er<q $f,rrfi t'T li d
eT frtqTfu.fi o-Eqrsu-s q-{f,I t I

(A) qEdrrmtq
(B) !ffi-dcffiq
(c) qEffiq
(D) qffiq

11. Tm-fi 6l Edf,l tnT fr,.fl 6T-irT t ddl

(A) HqoldrqT

(B) fl{dsen{l
(c)
(D) 3fffi

rz. qlr) o1 sg ffi fttfld 6T-{T drfr t?

(A) qofuFqT

(B) ol-dg'ir

(c) lTqfuqq

(D) SR'{-d"t't

13. qtdttraTq frr\q-dr t t

(A) cr dt)
(B) c+dt)
(c) dq q)t)

(D) o'ri Tfr

7.

8.

9.

8.

9.

r0.
(n
Ed

-

11.

Series-A PAT-2021 Page

)



t4.t4.

15.15.

t7.

18.18.

Spirulina belongs to which class?

(A) Xanthophyceae

(B) Cyanophyceae

(C) Rhodophyceae

(D) Pheophyceae

Organisms which can use inorganic

compounds as electron donors are

termed as

(A) Lithotrophs
(B) Phototrophs

(C) Chemotrophs

(D) Photo-organotrophs

Rq-{frqT fuT C o1 t?
(A) daffi
(B) sTqffi
(c) tdtrl{fr
(D) frffi
frq q\ Grtrdfufr dfui sT Blqtq
g-W{ <Tdn} d w t wi d--C o-or

qrdT t I

(A) fdertfrw

(B) F'rdETs

(c) dm-dw
(D) qH{ftfr)Ayq

t7.

16. Temperature required

pasteurization is

(A) Above 1500C

(B) Below 1000C

(c) 1looc
(D) None of these

19. The best vector for gene cloning
(A) Relaxed control plasmid

(B) Stringent control plasmid

(C) Both A and B
(D) None of these

Which of the following in called a

living fossil?
(A) Cycas
(B) Ginkgo
(C) Metasequoia
(D) All the above

Which of the following is a common
biofertilizer of rice field?
(A) Oscillatoria
(B) Anabaena
(C) Volvox
(D) Oedogonium

16. qrg.fr-{wr d fu BrHr{rF ruqrt f I

(A) lsooc q\ sw
(B) loooc t ft-n

(c) 11ooc

(D) flq t oii =d

ffifud fr ot{ ftfrtT q\fu-d q,f,drdT t I

(A) Hr{-fi]]
(B) Fffi
(c) i-nRrWrT
(D) sqq d H$

ffifua t o)q qrq d fft or dfr-6
qrq tr
(A) fft.fretRqr
(B) \qrtr{T
(c) q\d-Et.w

(D) offirFqq

ts. d{.rdiFl.r d ft\ trq-fr erur fui( tI
(A) 3ilirq t frqB-f, ETfuc
(B) of ftrirnT RTfu-s
(c) (\) 3ii (fr) qlii
(D) Eqt t oli TS
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20.

21.21.

22.

23.23.

24.

I.C.B.N is concerned with
(A) Biosphere
(B) Pollution
(C) Taxonomic nomenclature
(D) Study of cYtologY

In cauliflower which part of the plant

is edible?
(A) Leaves
(B) Stem
(C) Fleshy inflorescence
(D) Root

Western blotting technique is used in

the study of which of the following?
(A) RNA
(B) DNA
(C) Proteins
(D) All of these

The chromosomal ends are known as

(A) Metamere

(B) Centromere

(C) Telomere

(D) Satellite

The determination of age by counting

the annual rings of a tree is known as

(A) PhenologY

(B) DendrochronologY

(C) EpidemiologY
(D) Histology

25. The Calvin cYcle ends with the

regeneration of
(A) RUDP

(B) PGA

(c) PEP

(D) DHAP

22.

sn{"fr"ft"Wo frffi fuq qmr qror t r

(A) ErqMq(
(B) e-$nT

(c) twmrfi-o qffiqi
(D) HEffidr 6'1 3{q{q

s-"d-tinfr 6T gri qt'q ,nlT t t

(A) qt
(B) flql
(c) qiqa fqf,q
(D) GS

qM {n.qT ilf,fto 6T qdnT FlEftlft
it t ftrq-d orurqq q fuqT qrf,I t?
(A) 3IR.V{.q

(B) sW.q
(c) e}-&q

(D) fli t q'fr

Trgfl or 3Tfrq fu-iT o-doldl t
(A) ffii
(B) tdfrqq
(c) tdriqi
(D) {ftdlEu

24. frtift fr Es d 3{E oI ftqti'T ard V5

ftr o1 ffi t di a1 tu-qr o\-
(A) frt-d=s
(B) tffiS
(c) S-gfitrrdr
(D) ftffirfr

2s. Affiq qEfu-d d GT;o t fu-n or Td,

dor t
(A) sIlto{oSofro

(B) frofroqo

(C) ftogofro

(D) do\r4o\ofro

20.

"J)
?i

.
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26. Water from soil enters into root hairs
on account of
(A) Turgor pressure
(B) Suction pressure
(C) Barometricpressure
(D) Osmotic pressure

27. Vegetative reproduction
Angiosperm is an example of(A) Apomixis
(B) Amphimixis
(C) Apogamy
(D) Apospory

An_ enzyme having different
molecular forms bui the .u."
specifity are
(A) Isoenzyme
(B) Allosteric enzvme
(C) Coenzyme
(D) Holo enzyme

The link between glycolysis and
kreb's cycle is
(A) Citric Acid
(B) Aceryl Coa
(C) Succinic Acid
(D) Fumaric Acid

Which of the following was first
genetically engineered hormone?
(A) Insulin
(B) rAA
(C) Estrogen
(D) Interferon

31. The term ecosystem was coined by
which of the following scientists?
(A) Alrmann
(B) Tansley
(C) Kollicker
(D) Waldeyer

frqfufun t t ot{ m ri qIfi si q-s
olRimT fr tr+{T oror t r

(A) E{qq r{Iq
(B) Wq qqrq

(c) dtrffio eqTq
(D) qT-fiqrtrfi eqTq

oil-{d-fr-fr dq} t eli qrar tfutfr-o l'r+{
ro a-cEqur g

(A) vq)ftlds
(B) guhlfrnfl-n
(c) gqt'.ifr

(D) qqh.ttfr

To \_vQq ffi oi dfd-Wr w ei w
si-+t \o 6 ffifuRrA d g--i ,.t d(A) sire$wEq
(B) \-dltfun {qnq
(c) dEq'$q
(D) ddEEr$q

'Tal|{)-dffiH eil{ ffiE d fl-q
o-$ or flq +-{dr t
(A) qutr6 qifts
(B) vfuei{d o)qqrgq q
(c) H-nfrho \fi-s
(D) q$no vqfiE

frr{fufun fr i\ d-i rrdr fuiB-6 erftqTB
6] ffi eirz

(A) ilqPdq
(B) 3l(o{o\o
(c) Wlqr
(D) ildGhfq

31. wRRarhr ilr q* oT ffiq fu-s t-mm"i fu'qr erT ?

(A) 3iT-dtq
(B) drrd
(c) o)fu.6y
(D) qrdqr

26.

27.in

28.
28.

29.
29.

30.
30.
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32.

JJ.

32. FrqfrfuT t'dle
snqqq-fi t t

+rd o?-fl d ft4\ efq
Which of the following is

indispensible for plant cell culture

(A) Gibberellin
(B) AnY cYtokinin
(C) ElhYlene
(D) Auxin

The seedless bananas best explain the

phenomenon of
(A) ParlhenocarPY.
(B) Parlhenogenests
(C) AgamosPermY
(D) PseudogamY

meiotic divisions ate

produce 1000 Pollen

(c) Eetrfr-{
(D) 3T]-fltq

JJ.

34. To prevent felling of trees' Chipko

movement commenced in

tnl Tehri Garhwal district of uttra

khand
(B) Almora district of uttrakhand

iCi Darjeeling district-of W'B'

iDi Mandi district of H'P'

35. How many
required to
graius?
(A) 200
(B) 2s0
(c) 400
(D) s00

34.

D

)-

36. Which of the following in known as

the "intercom" sYstem of the Plant

cells?
(A) Plasmalemma
(B) Middle lameIla

(C) Plasmodermata

ioi EndoPlasmicreticulum

37. Which of the following is most static

ecosYstem?
(A) Desert
(B) Forest
(C) Mountain
(D) Ocean

3s. 1000 qm 6q q-ni d ftN 6u1 ftdtft

frqT--f,{ o1 snqqq-fint drtfr I

(A) 2oo

(B) 250

(c) 4oo

(D) 5oo

36. FrE{frE( t t et{ q)t} of drRrorcif

"E-€{6Iq" o.-6-f,rdl t
(A) q-d-{+gtqrcT

iei frEa ttdl
(C) q-dTd-eqrcT

(D) s'ffiq ttrf"Eq

37. ffifu( t t ot{ q-{.n qrRfeifrot

tl
(A) tFKdH
(B) qq

(c) q-frd

(D) w

(A) fuildr{
iul Ai qgdffiq-frq

R-n fi-q qIaT d-dT frq fr ot{ ifr frB dr

qrrin t
(A) qT{d-ffi
(B) qT{t)+frifu-n

(c) c+{qfr
(D) qdifr

q)q fgI o\ o-ci i\ q-4ri d ft\ frqq

3{ftqH ort erw gel

(A) trft qaql-fl fu-at strTsw
(B) q-dq\qI ffi-ol st{tr!-€

i.i qrfifuT ffi-dT qRzq q'rrd

irj q-s tu-dT ftlr"-d treq
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38.38.

39.39.

Brachymeiosis is characteristic of
(A) Algal fungi
(B) Sac tungi
(C) Club tungi
(D) Imperfect tungi

Organogenesis is
(A) Formation of callus tissue
(B) Formation of root and shoots on

Callus tissue
(C) Both (a) and (b)
(D) Genesis of organs

Agrobacterium based gene transfer is
efficient
(A) Only with dicots
(B) Only with monocots
(C) With both monocots and dicots
(D) with majority monocots and few

dicots

Streptomycin is produced by
(A) Streptomyces griseus
(B) Streptomyces griseoflavus
(C) Streptomyces aerofaciens
(D) Streptomyces ramosus

Which enzyme is used to join
together two different types of DNA
molecules.
(A) Ligase
(B) Endonuclease
(C) Exonuclease
(D) Protease
Interbands of polytene chromosome
are

(A) Euchromatic
(B) Heterochromatic
(C) Mesochromatic
(D) Secondaryconstriction

bread wheal-Triticum aestivum 42.

Haploid
Diploid
Tetraploid
Hexoploid

40.

(D) eifrqq
44. mftfiq dr}H}q d {ir}s t

(A) {mttfro
(B) ttffi+B-o
(c) Mi+Eo
(D) qrtqfr$ GIf,itrT

itumRq fu-n 01 fre)EnT t
(A) 3m-,rdffi
(B) d-,h q-qTi

(c) oo-q ffi
(D) $Iq-{$-€ q-qTi

erf+-SiRrq t
(A) d-a-qr o-oo 6T rt-d;r

(B) d-da s-mn q{ q_c afu Gr-$ mr
ffiuT

(c) <iil (q) dr (fr)

(D) 3r.il of silfr
W)ffiRqq orrqTRil cf-{ {a[{rdiur orderq
7o

(A) du" rffie d mq
(B) d-{-d qffizq d {ilq
(c) Etqi qtlffiirr, .1i si{ftfz d qrel

(D) qErrcq rfiHuq eir qr GT{-oti d
tilel

iidqsRfi fu,H-d eqm ftffi-o Eior t
(A) r&dq-$fuH E_$n
(B) rtidqqfurl ffinn
(c) {tiCqrSRnT qqi)S-s'n
(D) €idlr$fiffi in}'ns
is fre G{arff, ilq-trfi THfrqq ftq i qqr
+
e

(A) tqdrcc
(B) frqilrEs
(c) tilrdtEE
(D) tffiiqdEc
ot{ {a {.f,t+q d Giert go\r{o{o
drft-{G of Gilgi oT ord e-{dT t
(A) dr{,)V
(B) E--ci-T6-dq
(c) rn+'gotq

40.

4t. 4t.

42. The
is
(A)
(B)
(c)
(D)

43.43.

44.
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45. If proteins are seperated according to

their electrophoretic mobility then the

type of electroPhoresis is

(A) SDS PAGE
(B) AffinitY ElectroPhoresis

(C) Electrofocussing
(D) Free Flow electroPhoresis

Addition or deletion of bases causes

which kind of mutation?
(A) Transversion
(B) Frameshift mutation
(C) Transition
(D) TranscriPtion

A CommunitY is 
I(A) A collection of Plants anc

animals
(B) Organism living in a habitat

iCl AutotroPhs and heterotroPhs

(D) Web of life

The removal of which enzyme affects

the synthesis of hn RNA in

eukaryotes
(A) RNA PolYmerase II
(B) RNA Primase
(C) RNA PolYmerase III
(D) RNA PolYmerase I

The growth in plants can be measured

by
(A) Hydrometer
(B) Potometer
(C) Auxanometer
(D) Luxmeter

Biologist celebrate 5thjune as

(A) Darwin's birthdaY

(B) World HYgiene daY

(C) World Environment daY

(D) World PoPulation daY

4s. GIr( \-&-n?q)tft-r qiRftl-& ENT fr-&l qi

or-dq fuql qrq d tS Ttfi-dq\Wq qi

o-di t
(A) guo$offlofm

(B) qfrfie q&o?q\RRffi

(c) q IT

(D) ht tr-d\ @tnnt
46. GrTqTRl oT qt-s ql frd)q{ ful1 rox

g-flM-q 61 6NUT q-q-dT t?

(A) sIiqcq
(B) ffirqe
(c) \qffiqnT

(D) qfrfw

oqftE o-di t
(A) dd C{ s{ oI qT6

iei fi-q c\ sr tRte d so st t
i.l d{ tdgqq
(D) i-q 3ilw dlEs

fus rutEq oT frwl-{fi {dRq)-c.qr t i

\-{oilr.g{\ 6 €gaqq *1 qlTlfr-d s-(rT'

(A) **qq16;riq tt
(B) 3rR.v{.\.!I{{q

icl sIRv{\ddqtq III
(D) elrq.qq.q.qYfrqiq t

q)qi t g.ffi frN-d (oqT qlqr cT $fi-aT

(A) ET{Sftdq
(B) ffi-c{
(c)
(D) Effifr-c(

46.

47.
47.

48.
48.

D

J

{

49.
49.

50.
so. fiq ffio 5 qq o\ C r{rt t

(A) cl{hq 4I wq Fdq
(B) ftrq EEfu-{ ftqq
(c) fteo qqiqinT trqr+

(D) frqq q5dqq trdtl
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6.

booklet from the invigilator within
the period of 5 minutes.

Afterwards, neither the question

booklet will be replaced nor any

extra time be give.

(c) After this verification is over, the

test booklet number should be

entered in the answer sheet.

Each item has four altemative responses

marked (A), (B), (C) and (D). You

should darken correct answer in

corresponding circle.

Your response to the item is to be

indicated in the answer sheet only.

Answers marked in question booklet will

not be evaluated. Rough work is to be

done at the end of this booklet.

You have to return the test question

booklet and OMR sheet to the invigilator

at the end of examination compulsorily.

Use of any calculator or log table etc. is
prohibited.

In case of any mismatch of questions, the

English version will be deemed to be

correct, if the question booklet is

bilingual.
For each question, darken only one circle
on the Answer Sheet. If you darken more
than one circle or darken a circle
partially, the answer will be treated as

incorrect.
Note that the answer once filled in ink
cannot be changed. If you do not wish to
attempt a question, leave all the circles in
the corresponding row blank. Such
question will be awarded zero mark.

There is no negative marking.

dlflor sfld {arr q{ (qTfr e-fr

rQq-gfrflfiT d d t trrd frf orTqm'r qTq

ft-{d ki qdrit BTd *.6 3nu-+1

!-{q-gfrflmT q-nfr qd,ft Gil{ q fr
onqo) 3rfrRff 1Tq-q fuqT qrd'rT 

r

7.

8.

7.

8.

CN
L:d

-

9.9.

10.10.

11. ll

12.12.

13.13.

(c) {fl d-q d qr-q rlq-gftn-fiT oT m-q

rrcqr sos qro w eifum of t

ffi5 rvr d m qn ft-o-s (A), (B), (c) s

(D) ftt .rt t t oilq-fi\ q-& sd{ d Eqf+m

d-d o) q-61 6-r+ tt

rnl d uf,{ fq-d gd{ q'Tfr w fr Gifu--d E-{i

tr
qrc-5ftflfiT ii 3ifun soi or Tdf6c rS

fuqT qT+Tr I cn-zqr orq {s gfudoT d orfuq

YE q-{ of I

Gnqfr1 q-ftefl r{qm eti q{ uot-gR<-o e

eil.worx qr6 qel frfrerf, q-frqs o1 dtirqr

sndw-6 t t

fr;qfr ,fr trfi1-{ oprwo (@a) u an te-a

3ilft o.r sfi qffio t t

frffi ,fr yr{ 6r ttd 01 Ecl.r d eiffr rrs-i"r
o) Hfr qnr ENq-r, uR w+gk--o Erlqq
elr

e-.f5 m d fu, s6q !:ffi q{ d-{f, qfr rtf,r
61-61 f,rcl t t qR flqi q6 t olfu6 .tdT
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